Macroeconomics VII - Model IS-LM-BP
Model assumptions:
	AD
	AD= Ca+cY-cTAA-ctY+cTR+ I -b*i +G      
	Autonomous Expedintures
	A=Ca-cTAA+cTR+IA+G

	Equilibrium of Y (AD = Y)
	AD = A +c(1-t)Y – b*i → Y0=A +c(1-t)Y – b*i

→ Y0= α * (A-b*i)
	Equation of IS
	Y = α * (A-b*i)

	Demand for real money
	L= k*Y-h*i
	Equation of LM
	i = 1/h(k*Y- M/P)

	Multiplier
	α= 1/(1-c(1-t))                                                                            L=kY-hi

                                                                                           Y=1/k (h.i+M/P)

	Multiplier of fiscal policy
	γ = α/(1+αbk/h)
	Multiplier of monetary policy
	μ = b/h*γ

	Model IS-LM

	Equilibrium income
	Y = γ*A+γ*b/h*M/P
	Equilibrium interest rate
	i = k/h* γ*A – 1/(h+αbk)* M/P


The economy is characterized by the following indicators: 

C = 400 + 0,8Y
Ia = 200
b = 40
         Ga = 600

TAa = 200
t = 0,1

AA = 1240

NXA = 270
     m = 0,12

i = 3%

M/P = 1500
    k = 0,4
h = 60

v = 1,5

1. The economy is in a system of perfect capital mobility and a fixed exchange rate. The government, in order to increase product and employment, will increase government spending by 100 billion. How much does the CB have to increase the money supply in order to achieve balance in the economy?
2.  In a system of perfect capital mobility and a flexible exchange rate, determine:
a) Under these conditions, what is the level of the equilibrium income and what is the level of the exchange rate "cleansing" the market for goods and services?
b) The CB increases the money supply by 60 billion, how the equilibrium real exchange rate changes?
c) The government increases government spending by 60 billion, what effect does this fiscal expansion have on the level of output, the level of the real exchange rate and the NX? How big is the crowding-out effect of fiscal expansion and how will the budget deficit caused by the increase in G be financed?
d) As a result of Y growth in other countries, the demand for domestic exports will increase by 100 billion. What is the consequence of the growth of exports on Y and how will the equilibrium real exchange rate change? If there is a decrease in R, what effect has this decrease on NX?
__________________________________________________________________________
If we accept the assumption that capital mobility is not perfect, the domestic interest rate does not have to be equal to the foreign interest rate.
The macroeconomic balance will be determined by the interaction of the domestic interest rate, the domestic real income and the real exchange rate.  
We have three endogenous variables R, i, Y and three equations with three unknowns. The point of economic equilibrium in the model will be at the intersection of the IS, LM and BP curves and mathematically given by the condition IS = LM = BP.
The equilibrium of balance of payments equation is now BP = NX + NCF = 0, so:
BP = (X0 – mY + vR) + cF(i – iF) = 0

1. We have following variables: k=0,6, h=10, M/P=240, X0=60, mpc=0,9, m=0,2, t=20%, C0=50, T0=10, I0=170, G=125, b=10, v=20. We suppose that iF=12% and cF=25.

The economy applies a floating exchange rate. Derive the equation of the BP curve and for a specific example entry:

a) calculate the real income

b) calculate the equilibrium of domestic interest rate

c) calculate the real exchange rate for the given situation.
2. Complete the incomplete statements:
1. Assuming perfect capital ………… and ……….. exchange rates, the balance of payments is always balanced

2. Fiscal policy, assuming perfect capital mobility and fixed exchange rates, is ………… in influencing production and employment, while monetary policy is …………….

3. In a system of flexible exchange rates and perfect capital mobility, fiscal policy is ………….., while monetary policy is ………………..

4. Assuming imperfect capital mobility and fixed exchange rates, monetary expansion will lead to a ………… in foreign exchange reserves and pressure to ………… the domestic currency.

3. True (False)
( ) An increase in the world interest rate above the domestic interest rate leads to an inflow of capital into the home country.
( ) Expansive fiscal policy increases the trade surplus.
(  ) Expansive monetary policy increases the capital account surplus.
(  ) In a situation of perfect capital mobility, the real product equals the potential.
